





3.

2 % Al 5108, 144, 162 °] FFpE?

© 2% x3? @ 22x5

@ 2x%x33 B 22x3

@ 2x32






@ 2x-3

@ 3x4+2

@ 2x+3

® 3x+4

@ 3x-2



e

@ 300 3 360 @ 480 3 540

D 240



<

[

a, 0 | ©
G )
__OE

oy

BN

E_ﬁ ol
,A

olJ S
o~

3“2 -

o =l
™ ®
o<t

[

S ™ | <
il [
<= Q
m.

3“2

w 5 Pl

o|J
Ml N ©



m_f
RS

H_O.._

u._A

o_E

@D x2=
=4



9. off Aol 2x 44 & wWiob & AS A5 Alitsto] HIAEY 5x-1
ol Hict. o] W ut=A Attt Ayt=?

h s

D x-9 ® 3x-5 ® 5x+3
@ Tx+3 B 9x+ 17



@ -3x+5=2x-5
® 6-—x=+x

® 4(x+1)=-2

@ 4-3x=-2(x-2) -

@ 3x-5=3(x-2)+1



5x -5

© 5(x-1)

® b5x

@ 3x-1=3x

3x—2

© —x+4=x-1

@ —x+2=2x-7

A0 @®ooeo G

@ ©

ONQ)



12. of"d =79 97kl 20 %9 olel= €914 A7k AstA=dl, A7t
oA 500 A EIshA ZkEY A7te] Hiske] 10 %< ofefe] Azt
=79 Y7 Feh?

e

@D 2000 ¥ @ 3000 ® 4000 ¥

@ 5000 ¥ 3 6000 ¥

.\



13.

Hojof sh=7}?

@ 4 3] @ 5 3 ® 6 3
@ 73 ® 8 3]



Hojzl AL

HollM 718 Eel

=

s

2AY

24 9]

<k

3 0 @® 49 B -13

® +4



of f-got= ¥ B, -3t
E}ﬁ}i dAe ABY FH&
P, 3 M 2 NAFolo] A=lE

REN

O

15. 24 W -4 o] A-gsk= A& A,
St Ae ¢ 2 o gt WL
M, % 4 g.;ﬂ D—J Z;HO No]a-jr_
TEHAE?

sk

@1 @ 2 ®

DN | —
DO | o

)

DO | Ot
®






ol
S
oll
o8

ol
Kfo
,.mo

oln

ol 3 7%l o

OO]—
P
o

@ 5x-3y-4=

5 o]al

— -

@ 2-5x 9 x9 A

® 6x2-8x+ 10+ ax®> +x+ 1 o] x| 57| ¢

-6 o] r,]-



18. [ hoe shpo

x+3)=[ | +@x+2)
2(3 3
@ D -5t = 5(1“5)
® Bx+4)+[ | = (~3x)
@ (9x+9)- | :%(16x+8)
3 1
® gx5x—2<x—§):|:]



19. 7o) A A, B7F ot A9k B 2] Holo gol 174 cm? ©] a1,
2489 gto] 84cm Y W, A9} Bo Hulo] §F2?

@ 125cm? @ 133cm? ® 198 cm?

@ 217 cm3 3 258 cm?



20. 4% o] 28 600g°] Ut} o] AFEAA H g2 B2 FHAZ|H

5% 9 ag&o] HeA] FHotoft,

@ 100g @ 120 @ 140g @ 150g G 160g



D 2x3x3

@ 92%x32x%x52




22,

24 x ax 52 9] oF5=7} 45 7|7t H)7] gt

D 2 ® 3 B 7



23. A B, CERF ASO)I, AxBxC=-30,A<B<Colth A 9]
doigtol 3 &, € o gho] & 5= 3l Ae BF HsHH drkelvy?

@D 5 ® 8 ® 15 @ 18 ® 20



@ od Fof] -2 & " = 5ol
@ xE3 02 ed 4 7F drt

@ ol" 4o gk F4olrh

@ A x vk o thefs 25 16 7ol
(B oW 2=0] AL ool






